

On a class of bilateral generating functions for certain special functions

A K CHONGDAR

Department of Mathematics, Bangabasi Evening College, Calcutta 700 009, India

MS received 3 October 1986

Abstract. A general theorem unifying a novel class of bilateral generating functions of certain special functions is established. A number of applications of the theorem are also given.

Keywords. Bilateral generating functions; special functions.

1. Introduction

Several attempts have been made by many researchers [2, 4, 9, 11, 17] to formulate theories in connection with the unification of different classes of bilateral generating functions of certain special functions found in the literature. The present note is a further attempt to establish a general theorem on the unification of a novel class of bilateral generating functions of various special functions e.g. Laguerre, modified Laguerre, generalized Bessel, Gegenbauer and modified Jacobi polynomials. In fact we have obtained the following theorem:

THEOREM 1. For a set of functions $\{S_n^k(x) \mid n = 0, 1, 2, \dots\}$ generated by

$$\sum_{n=0}^{\infty} A_n(m, k) S_{n+m}^{k-n}(x) t^n = \frac{\{f(x, t)\}^k g(x, t)}{\{h(x, t)\}^m} S_m^k\{q(x, t)\}, \quad (1)$$

where m is a non-negative integer, A_n the arbitrary constant and f, g, h, q are arbitrary functions of x and t , let

$$F(x, t) = \sum_{n=0}^{\infty} a_n S_{n+r}^{k-n}(x) t^n, \quad (2)$$

then the following bilateral generating relation for $S_r^k(x)$ holds:

$$\sum_{n=0}^{\infty} S_{n+r}^{k-n}(x) \sigma_n(y) t^n = \frac{\{f(x, t)\}^k g(x, t)}{\{h(x, t)\}^r} F\left(q(x, t), \frac{yt}{f(x, t)h(x, t)}\right), \quad (3)$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p A_{n-p}(r+p, k-p) y^p.$$

During the application of the above theorem, a large number of bilateral generating functions for various special functions are pointed out.

Proof of theorem 1

We have

$$\begin{aligned} \sum_{n=0}^{\infty} S_{n+r}^{k-n}(x)\sigma_n(y)t^n &= \sum_{p=0}^{\infty} a_p(yt)^p \sum_{n=0}^{\infty} A_n S_{n+p+r}^{k-n-p}(x)t^n \\ &= \frac{\{f(x,t)\}^k g(x,t)}{\{h(x,t)\}^r} \sum_{p=0}^{\infty} a_p \left(\frac{yt}{f(x,t)h(x,t)}\right)^p S_{r+p}^{k-p}(q(x,t)) \\ &= \frac{\{f(x,t)\}^k g(x,t)}{\{h(x,t)\}^r} F\left(q(x,t), \frac{yt}{f(x,t)h(x,t)}\right). \end{aligned}$$

This completes the proof of the theorem.

COROLLARY 1. If we put $r = 0$, we get the following result. If

$$F(x,t) = \sum_{n=0}^{\infty} a_n S_n^{k-n}(x)t^n,$$

then

$$\sum_{n=0}^{\infty} S_n^{k-n}(x)\sigma_n(y)t^n = \{f(x,t)\}^k g(x,t) F\left(q(x,t), \frac{yt}{f(x,t)h(x,t)}\right).$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p A_{n-p} y^p.$$

In the next section we proceed to give the various applications of the theorem in the field of certain special functions.

2. Applications

(i) *On Laguerre polynomials*

We first consider the Laguerre polynomials satisfying the following generating relation [1, 7]

$$(1+t)^k \exp(-xt) L_r^{(k)}(x(1+t)) = \sum_{n=0}^{\infty} \frac{(r+1)_n}{n!} L_{n+r}^{(k-n)}(x)t^n. \tag{4}$$

The relation (4) is of type (1) with,

$$f(x, t) = 1 + t, \quad g(x, t) = \exp(-xt), \quad h(x, t) = 1, \quad q(x, t) = x(1 + t)$$

$$\text{and } A_n = \frac{(r + 1)_n}{n!}.$$

Now using the theorem, we get the following result on bilateral generating relation involving Laguerre polynomials:

THEOREM 2. If there exists a generating relation of the form

$$F(x, t) = \sum_{n=0}^{\infty} a_n L_{n+r}^{(k-n)}(x) t^n, \tag{5}$$

then

$$\sum_{n=0}^{\infty} L_{n+r}^{(k-n)}(x) \sigma_n(y) t^n = (1 + t)^k \exp(-xt) F\left(x(1 + t), \frac{yt}{1 + t}\right), \tag{6}$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{(r + p + 1)_{n-p}}{(n - p)!} y^p.$$

COROLLARY 2. If we put $r = 0$ in the above theorem we get the following result. If

$$F(x, t) = \sum_{n=0}^{\infty} a_n L_n^{(k-n)}(x) t^n,$$

then

$$\sum_{n=0}^{\infty} L_n^{(k-n)}(x) \sigma_n(y) t^n = (1 + t)^k \exp(-xt) F\left(x(1 + t), \frac{yt}{1 + t}\right),$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{(p + 1)_{n-p}}{(n - p)!} y^p.$$

(ii) *On modified Laguerre polynomials*

We now consider the following well-known generating function for the modified Laguerre polynomials [10]

$$\sum_{n=0}^{\infty} \frac{(r + 1)_n}{n!} f_{n+r}^{k-n}(x) t^n = (1 + t)^{k-1} \exp\left(\frac{xt}{1 + t}\right) f_r^k\left(\frac{x}{1 + t}\right). \tag{7}$$

The relation (7) is of type (1) with

$$f(x, t) = 1 + t, \quad g(x, t) = (1 + t)^{-1} \exp\left(\frac{xt}{1 + t}\right).$$

$$h(x, t) = 1, \quad q(x, t) = \frac{x}{1+t} \quad \text{and} \quad A_n = \frac{(r+1)_n}{n!} .$$

Therefore by the application of our theorem we get the following result on bilateral generating relation involving modified Laguerre polynomials.

THEOREM 3. If there exists a generating relation of the form

$$F(x, t) = \sum_{n=0}^{\infty} a_n f_{n+r}^{k-n}(x) t^n, \tag{8}$$

then

$$\sum_{n=0}^{\infty} f_{n+r}^{k-n}(x) \sigma_n(y) t^n = (1+t)^{k-1} \exp\left(\frac{xt}{1+t}\right) F\left(\frac{x}{1+t}, \frac{yt}{1+t}\right)$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{(r+p+1)_{n-p}}{(n-p)!} y^p. \tag{9}$$

COROLLARY 4. Putting $r = 0$ in the above theorem, we get the known result derived by Ghosh [15].

(iii) *On Bessel polynomials*

We now consider the generalized Bessel polynomials satisfying the following generating function [8]

$$\sum_{n=0}^{\infty} \frac{\beta^n}{n!} Y_{n+r}^{(k-n)}(x) t^n = (1-xt)^{1-k-r} \exp(\beta t) Y_r^{(k)}\left(\frac{x}{1-xt}\right). \tag{10}$$

The relation (10) is of the same type (1) with

$$f(x, t) = (1-xt)^{-1}, \quad g(x, t) = (1-xt) \exp(\beta t), \quad h(x, t) = 1-xt,$$

$$q(x, t) = \frac{x}{1-xt}, \quad \text{and} \quad A_n = \beta^n/n!.$$

Therefore by using our theorem, we get the following result involving Bessel polynomials.

THEOREM 4. If there exists a generating relation of the form

$$F(x, t) = \sum_{n=0}^{\infty} a_n Y_{n+r}^{(k-n)}(x) t^n \tag{11}$$

then

$$\sum_{n=0}^{\infty} Y_{n+r}^{(k-n)}(x) \sigma_n(y) t^n = (1-xt)^{1-k-r} \exp(\beta t) F\left(\frac{x}{1-xt}, yt\right)$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{\beta^{n-p}}{(n-p)!} y^p. \tag{12}$$

COROLLARY 4. Putting $r = 0$ in the above theorem we get the interesting result found derived with some misprints in [6].

(iv) *On Gegenbauer polynomials*

Next we consider the Gegenbauer polynomials satisfying the following generating relation [5]

$$\begin{aligned} & \sum_{n=0}^{\infty} \binom{n+r}{r} \frac{(1-r-2k)_n}{(1-k)_n} C_{n+r}^{k-n}(x) t^n \\ &= [1+4tx+4t^2(x^2-1)]^{k-1/2} C_r^k(x+2t(x^2-1)). \end{aligned} \tag{13}$$

The relation (13) is of type (1) with

$$\begin{aligned} f(x,t) &= 1+4tx+4t^2(x^2-1), \quad g(x,t) = [1+4tx+4t^2(x^2-1)]^{-1/2} \\ h(x,t) &= 1, \quad q(x,t) = x+2t(x^2-1), \quad A_n = \binom{n+r}{r} \frac{(1-r-2k)_n}{(1-k)_n}. \end{aligned}$$

Now using theorem 1, we get the following result on the bilateral generating function of Gegenbauer polynomials

THEOREM 5. If there exists a generating relation of the form

$$F(x,t) = \sum_{n=0}^{\infty} a_n C_{n+r}^{k-n}(x) t^n \tag{14}$$

then

$$\begin{aligned} \sum_{n=0}^{\infty} C_{n+r}^{k-n}(x) \sigma_n(y) t^n &= [1+4tx+4t^2(x^2-1)]^{k-1/2} \times \\ & F\left(x+2t(x^2-1), \frac{yt}{1+4tx+4t^2(x^2-1)}\right) \end{aligned} \tag{15}$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \binom{n+r}{r+p} \frac{(1-r+p-2k)_{n-p}}{(1-k+p)_{n-p}} y^p.$$

COROLLARY 5. Putting $r = 0$ in theorem 5, we get the result derived in [14].

(v) On Jacobi polynomials

Next we consider the Jacobi polynomials satisfying the following generating relation [3]

$$\sum_{n=0}^{\infty} \frac{(r+1)_n}{n!} P_{n+r}^{(\alpha, k-n)}(x) t^n \tag{16}$$

$$= (1-t)^k \left\{ 1 - (1+x) \frac{t}{2} \right\}^{-1-\alpha-k-r} P_r^{(\alpha, k)} \left(\frac{x - \frac{t}{2}(1+x)}{1 - \frac{t}{2}(1+x)} \right).$$

The relation (16) is of type (1) with

$$f(x, t) = \frac{1-t}{1 - \frac{t}{2}(1+x)}, \quad g(x, t) = \left\{ 1 - \frac{t}{2}(1+x) \right\}^{-1-\alpha},$$

$$h(x, t) = \left\{ 1 - \frac{t}{2}(1+x) \right\},$$

$$q(x, t) = \left\{ 1 - \frac{t}{2}(1+x) \right\} / \left\{ 1 - \frac{t}{2}(1+x) \right\}, \quad A_n = (r+1)_n/n!.$$

Now using theorem 1, we get the following result on the bilateral generating relation involving Jacobi polynomials.

THEOREM 6. If there exists a generating relation of the form

$$F(x, t) = \sum_{n=0}^{\infty} a_n P_{n+r}^{(\alpha, k-n)}(x) t^n, \tag{17}$$

then

$$\sum_{n=0}^{\infty} P_{n+r}^{(\alpha, k-n)}(x) \sigma_n(y) t^n \tag{18}$$

$$= (1-t)^k \left\{ 1 - \frac{t}{2}(1+x) \right\}^{-1-\alpha-k-r} F \left(\frac{x - \frac{t}{2}(1+x)}{1 - \frac{t}{2}(1+x)}, \frac{yt}{1-t} \right),$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{(r+p+1)_{n-p}}{(n-p)!} y^p.$$

COROLLARY 6. Putting $r = 0$ in the above theorem we get the known result derived in [12].

If in place of relation (16) we consider the following [16]

$$\sum_{n=0}^{\infty} \frac{(r+1)_n}{n!} P_{n+r}^{(k-n,\beta)}(x) t^n = (1+t)^k \left\{ 1 + \frac{t}{2}(1-x) \right\}^{-1-k-\beta-r} \times P_r^{(k,\beta)} \left(\frac{x - \frac{t}{2}(1-x)}{1 + \frac{t}{2}(1-x)} \right). \tag{19}$$

we get the following result.

THEOREM 7. If there exists a generating relation of the form

$$F(x,t) = \sum_{n=0}^{\infty} a_n P_{n+r}^{(k-n,\beta)}(x) t^n, \tag{20}$$

then

$$\sum_{n=0}^{\infty} P_{n+r}^{(k-n,\beta)}(x) \sigma_n(y) t^n = (1+t)^k \left\{ 1 + \frac{t}{2}(1-x) \right\}^{-1-k-\beta-r} \times F \left(\frac{x - \frac{t}{2}(1-x)}{1 + \frac{t}{2}(1-x)}, \frac{yt}{1+t} \right),$$

where

$$\sigma_n(y) = \sum_{p=0}^n a_p \frac{(r+p+1)_{n-p}}{(n-p)!} y^p.$$

COROLLARY 7. Putting $r = 0$ in the above theorem we get the result which has been derived in [13].

Conclusion

From the above discussion it is clear that one may apply theorem 1 in the case of other polynomials and functions existing in the field of special functions to obtain the bilateral generating relation involving the special function under consideration.

References

- [1] Al-Salam W A, Operational representations for the Laguerre and other polynomials, *Duke Math. J.* **31** (1964) 127–142
- [2] Basu D K, On the unification of a class of bilateral generating relations for special functions, *Math. Balk.* **6** (1976) 21–29
- [3] Chakraborty A B, Group-theoretic study of certain generating functions of Jacobi polynomials, *J. Indian Inst. Sci.* **64B** (1983) 97–103
- [4] Chatterjea S K, Unification of a class of bilateral generating relations for certain special functions, *Bull. Calif. Math. Soc.* **67** (1975) 115–127
- [5] Chongdar A K, Group-theoretic study of certain generating functions of Gegenbauer polynomials, *Orissa Math. J.* **2** (1983) 71–85
- [6] Chongdar A K, Some generating functions of modified Bessel polynomials from the viewpoint of Lie-group, *Int. J. Math. Math. Sci.* **7** (1984a) 823–825
- [7] Chongdar A K, Some generating functions, involving Laguerre polynomials, *Bull. Calif. Math. Soc.* **76** (1984b) 262–269
- [8] Chongdar A K, Some generating functions involving generalized Bessel polynomials, *Bull. Calif. Math. Soc.* **77** (1985) 330–339
- [9] Chongdar A K, A general theorem on the unification of a class of bilateral generating functions for certain special functions, *Bull. Calif. Math. Soc.* (communicated) (1986a)
- [10] Chongdar A K, A Lie algebra and generating functions of modified Laguerre polynomials, *Bull. Calif. Math. Soc.* **78** (1986b) 219–226
- [11] Chongdar A K, on the unification of a class of bilateral generating functions for certain special functions, *Tamkang J. Math.* **18** (1987)
- [12] Chongdar A K and Chatterjea S K, On a class of trilateral generating relations with Tchebycheff polynomials from the viewpoint of one parameter group of continuous transformations, *Bull. Calif. Math. Soc.* **73** (1981) 127–140
- [13] Das S, On partial differential operators for Jacobi polynomials, *Pure Math. Manuscript* **3** (1984) 95–104
- [14] Das S and Chatterjea S K, On a partial differential operator for Gegenbauer polynomials, *Bull. Calif. Math. Soc.* **76** (1984) 351–361
- [15] Ghosh B, Some theorems on generating functions of modified Laguerre polynomials, *Bull. Calif. Math. Soc.* **79** (1987) 41–47
- [16] Ghosh B, Group-theoretic origins of certain generating functions of Jacobi polynomials II, to appear in *Pure Math. Manuscript* **5** (1986).
- [17] Singhal J P and Srivastava H M, A class of bilateral generating functions for certain classical polynomials, *Pacific J. Math.* **42** (1972) 355–362